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QUESTION 1

Which two statements are true regarding L2TP? (Choose two.)
A. Tunnels are initiated by the LAC.

B. Tunnels are initiated by the LNS.

C. By default, subscriber authentication occurs on the LNS.

D. By default, subscriber authentication occurs on the LAC.

Correct Answer: AC

QUESTION 2

Which two types of routes may be advertised via EBGP? (Choose two.)

A. Routes that do not originate in the local AS and are learned by OSPF.

B. Routes that originate on the local router and are advertised into OSPF.

C. Routes that are transiting the local router and are BGP learned routes.

D. Routes that originate on the local router and are injected using a route map.

Correct Answer: CD

QUESTION 3

What is the first step in BGP route selection?

A. The local router prefers the route with the shortest AS Path.

B. The local router verifies that it has a route to the BGP Next Hop IP address.

C. The local router prefers the route from the peer with the lowest peer ID address.

D. The local router prefers the route learned from an EBGP peer over a route learned from an IBGP peer.

Correct Answer: B

QUESTION 4
Regarding L2TP, in which two situations is a service module or service I0A required? (Choose two.)
A. always for LNS

B. always for LAC
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C. LAC with fragmentation in the tunnel
D. LNS when there are greater than 2000 sessions

Correct Answer: AC

QUESTION 5

If all OSPF routers on a broadcast network have the same OSPF priority, which parameter is used to determine the new
BDR at the time of a DR failure?

A. area ID

B. router ID

C. loopback address

D. IP address of interface on broadcast network

Correct Answer: B

QUESTION 6

The output of the show aaa domain-map displays the following information: Domain: ispl.com; virtual-router: vrl;
loopback: 1 Domain: isp2.com; virtual-router: vr2; loopback: 1 Domain: none; virtual-router: vr3; loopback: 1 Domain:
default; virtual-router: vr4; loopback: 1

The end user supplies a login name of joe@isp7.com. Which virtual router is responsible for authenticating this user?
A.vrl

B. vr2

C.vr3

D. vrd

Correct Answer: D

QUESTION 7

Which message type is used to initiate an RSVP-TE label switched path?
A. path

B. resv

C. setup

D. session
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Correct Answer: A

QUESTION 8

Which CLI command shows if the router has formed any IS-IS adjacencies?
A. show clns neighbor

B. show isis neighbor

C. show cIns adjacency

D. show isis adjacency

Correct Answer: A

QUESTION 9

Which OSPF router will advertise a Type 2 network LSA for a broadcast network segment?
A.DR

B. ABR

C. ASBR router

D. DRother router

Correct Answer: A

QUESTION 10

A configuration profile contains the following commands: pppoe sessions 2 ppp authentication chap ip access-routes
Which two types of dynamic interfaces result from this configuration? (Choose two.)

A. routed 1483 interfaces

B. bridged 1483 interfaces

C. 1 PPPoA dynamic interface
D. 2 PPPoE dynamic interfaces

Correct Answer: CD

QUESTION 11

What information do OSPF hello packets contain? (Choose three.)
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A. area ID

B. host name

C. router priority

D. authentication type
E. LSA refresh interval

Correct Answer: ACD

QUESTION 12

Which CLI command shows whether an L2TP Tunnel Switch profile is applied?
A. 12tp tunnel test

B. show subscribers

C. show aaa domain-map

D. show I2tp destination profile

Correct Answer: C

QUESTION 13

Which CLI command displays the LSPs that currently have the attached bit set?
A. show isis adjacency

B. show cIns neighbors

C. show isis database

D. show clns database

Correct Answer: C

QUESTION 14

Which three statements are correct regarding the CLI command, 12tp destination profile to-NewYork virtual-router vrl ip
address 1.1.1.1 ? (Choose three.)

A. LNS IP address is defined.
B. LAC IP address is defined.

C. Virtual-router vrl sends and receives L2TP traffic.
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D. Virtual-router vrl is the authenticating virtual-router.
E. This command is performed on the LNS.

Correct Answer: BCE

QUESTION 15

Where is OSPF authentication configured on the ERX Edge Router?
A. interface

B. OSPF area

C. virtual router

D. OSPF process

Correct Answer: A
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